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BT
HREREEM
<HEELI>
RiEY T8 8 AIRBEHEE 111.7 110 | m3 INRE
HEEBRAR RC-40 t=10cm AR EFEE 2122 210 | m2
HERL T+ & X4 RC-30 AMBEAEE 21.0 20| m3
HEREL BEEBEE) AEHEHEE 0.7 1| m3
HEREL B EFR) AEHEHEE 1.3 1| m3
HEREL +TERXRS tRGAEL) IR EHEE 9.0 9| m3 NGRS
THEERR S~ REG~BI5 B EHESE 9.0 9| m3
T8 tWER - EFREYVEED)
TREER BiG~ 05 FRIEV-EBRLGRAL) 111.7-9.0= 102.7 100 | m3
T8 tWER - EFREYVEED)
R I FRIEV-EBRLGRAL) 111.7-9.0= 102.7 100 | m3
<SHEI>
SRR LI BT SHIERRIE R TAT7 IV EHEERR B EHEE 428.4 430 | m
TAI7TINEEZERRIE 15cm LT
EHAE MR R R SHEERRIE R 7 AI7VMREERR AMBEFEE 226.2 230 | m2 INRE
HHEERRIE 15cmEL T
OB FRIERI TRAITIAR SHERRIE t=50cm 226.2%0.05= 1.3 11| m3
mn 5 FRIERI TRITIAR SHERRIE t=50cm 226.2%0.05= 1.3 11| m3
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<HKERBEMAT>
EREEEEEEZVE) ZEIKEHFET HIVP ¢ 200 Rl Ssta= 13.7 14 m
EREEEEEZVE) ZEIKEHFET HIVP ¢ 150 AMBEAEE 05 1 m
FEHGEEEIEEZLE) TSHFT AR EEE 1.0 1] =®
FEHGEEEIEEZLE) MBS F AR EEE 1.0 1] =®
BB 609 EIKEHE R HIVP ¢ 200 AEBEHEE 2.5 3| m
BIGFTHI09) - EIKEHEHE HIVP ¢ 150 ABEHEE 05 1| m
HEBEMHE A EHEE 1.0 1| =
AT VEPANEE 7 09Y) B EAEE 1.0 1| =&
TV ANEE T M BB AEBEHEE 1.0 1] =
<GET>
TEBRECHEER) REEAMIEEE BEY79Yv7Y RC-30 AR EFEE 159.9 160 | m2 $iEER
H_EYE 100mm
L ERRAE(IEER) EREEMTELE PMEFEREA M-30 AMBEAEE 188.4 188 | m2 SEER
HEYE 120mm
FE(EE - BEE) MHIEE BEFRHETAIV(3) AIBEHEE 195.5 196 | m2 | EE-BRES
HEEE 30mm;FHIIE B 1.4mK i
(1BLYFEHH EYES0mmELT)
T
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fERLT YEHEE
I & =1 = B & & i)
RIEY HE&LY tI-EAIER £i&Y
% TIHED 0.5 *  145.58 = 72,79 m3 M7 | MR
TIHEO 0.4 =« 59.16 = 23. 66
TTHE® 2.1 % 6.45 = 13.55
EKEEHROD 0.6 =* 2.50 = 1.50
BEKEERQ 0.4 0.50 = 0.20
&t 111.70
BT HE&LY LT -EATER KEHEY
RC-40 TIHEO 1.05 * 145. 58 = 152.86 m2 212.2
t=10cm TIME® 0.95 =x* 59.16 = 56. 20
BEKEEROD 1.05 = 2.50 = 2.63
BEKEERQ 0.95 =* 0.50 = 0.48
&&t 212.17
HERL EE&LY I EAIEE £HEY
RC-30 TIE® 0.1 =* 145. 58 = 14. 56 m3 21.0 INRAE
TIHEO 0.1 =« 59.16 = 5.92
EKEEHROD 0.2 =* 2.50 = 0.50
EKEERO 0.1 % 0.50 = 0.05
|t 21.03
ERL HE&LY I EAIEE £iH&Y
EEBE () TIME® 0.1 =* 6. 45 = 0. 65 m3 0.7
&&t 0.65
HERL HE&LY I EAIEE £HEY
B (Frhd) TTHE® 0.2 =* 6.45 = 1.29 m3 1.3
|t 1.29
ERL HE&LY I EAIERE £3H&Y
FAL TIHE® 1.4 6. 45 = 9.03 m3 9.0 | MR
&&t 9.03
WET HEHEE
I #& -1 = B &% =2 i
GE D HE&Y I ERTER &i&Y
ASEHZERR TTEEO® 2.00 = 145. 58 = 291.16 m 428. 4
t <15¢cm TIHEO 2.00 * 59.16 = 118.32
TIHE® 2.00 = 6. 45 = 12.90
BEKEEROD 2.00 * 2.50 = 5. 00
EKEERO 2.00 * 0.50 = 1.00
&&t 428.38
R HE&LY tI-EAIER £i&Y
ASEREE AR T IHED 1.05 * 14558 = 152.86 m2 226.2 | INRAE
t =15cm TIHEO 0.95 * 59.16 = 56. 20
TTHE® 2.17 = 6.45 = 14.00
EKEEHROD 1.05 * 2.50 = 2.63
BEKEERQ 0.95 =* 0. 50 = 0.48
&t 226.17




No. 1/2

HEERERIEMT HEFEE
I i& =1 =X Bl # 2 IS
& HEIKE R +T - ENTEEREY
(FEEIRIEL ZVE) |HIVP ¢ 200 HEKERHFD 55 0200 13. 67 m 13.7
EKERAT +T - RHTESRLY
HIVP ¢ 150 HEKERTD 55 @150 0.50 m 0.5
TS#FT = 1
X1XEBYHE
¢ 150LL E200LLTF [m] 10
FER%E HHOHK
¢ 200 HITN# 200%90° 4 2 = 8 A& 20/18
HIYhy b (E#2) 200%150 1 * 1 = 1 11&8 10/@
¢ 150 HIvhy b (EF)200%150 1 1 = 1 & 1a/@
& F 10
BT = 1
X1XEBYHE
¢ 200 [m] 10
FER%E HHOHN
¢ 200 FHELINE 200%90° 5 x 2 = 10 5@ 20/18
HEIT S Bk TR +T-RATEE £i&LY
avhy-p HIVP ¢ 200 HEKEERD 55 0200 2.50 m 2.5
KEBIOmY YH%E
avyy-+ RE& Y
30-8-25(20) 9.12 / 55.0 % 10.0 = 1.66 m3 1.66 9.12 m3/55m
iy o) @& Y
49.50 / 55.0 =* 10.0 = 9.00 m2 9.00 49.50 m2/55m
ST HE&L Y
D13 0.536 / 55.0 * 10.0 = 0.097 t 0.097 0.536 t/55m
BT @& Y
D10 0.199 / 55.0 * 10.0 = 0.036 t 0.036 0.199 t /55m
B #hik HE&L Y
BEEE t=10cm 2.03 / 55.0 % 10.0 = 0.37 m2 0.37 2.03 m2/55m
EKEEE +T-RATEE £F&LY
HIVP ¢ 150 HEKEERD 55 @150 0.50 m 0.5
KEBIOmY YH%E
avyy-t HE&Y
30-8-25(20) 5,56 / 55.0 * 10.0 = 1.01 m3 1.01 5.56 m3/55m
B @& Y
38.50 / 55.0 * 10.0 =  7.00 m2 7.00 38.50 m2/55m
ST HE&L Y
D13 0.214 / 55.0 * 10.0 = 0.039 t 0.039 0.214 t /55m
BT @& Y
D10 0.268 / 55.0 * 10.0 = 0.049 t 0.049 0.268 t /55m
B ik &L Y
BEEE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m




No. 2/2

HEEBEMEMT WEHESE
T i =1 = B & & 1 =
HEEMHE
= 1
XIXBUH=E HEEMHRERLY
M Er e g
&L VE ¢ 200 HIVP 11.18 K 3 11.18 m/4. Om
@ 150 HIVP 0.30 XK 1 0.30 m/4. Om
HIZWE ¢ 200%90° 4 & 4
HIVhy b () @ 200%150 1 & 1
AHEUNER ¢ 200%90° BERRH LR F 4 B 5 & 5
AR
(7" b¥4Ab = 1
HET yh) XIXBVEH=E
7 VHAMNEE 7 nyhiEeT 1tT-EATER KLY
¢ 200 TIHEO 145. 58 m 146
7 VHAMNEE 7 nyhiE et TT-ENTER KisY
¢ 150 TIHEO 59.16 m 59
7 VHANEE
7 nyhR & = 1
XIXBUH=E HET MM EEERLY
7 VHANESE ¢ 200 HIVP
77 0y% L=5. 50m 23 & 23
L=2. 74m 2 & 2
L=2.21m 1 & 1
L=2. 00m 2 & 2
¢ 150 HIVP
L=5. 50m 8 & 8
L=3.83m 1 & 1
L=3.67m 1 & 1
L=3. 60m 1 & 1
7 VEANHE @200 HIVP FEIDLE () L=500 2 & 2
L&Y ny) RIDLE () L=500 4 & 4
@ 150 HIVP FEIDLE () L=300 2 & 2
RILLE (F) L=300 2 & 2
7 VHANEE ¢ 200/ 32 & 32
7 ny) A B th#f @ 1504 14 & 14
R B R t=6mm IR 914x1,829 BITERL=
%22kg/10m G & T IHEO+Q
22 /10 % 205 /1000 = 0.451| t 0. 451 L= 204. 74m




WET HWEHEE

HEERBBIEMT WEHEE
I i& & = B 1 2
TR HE&LY LT -EATER KEHEY
RC-30 t=10cm | I MrE® 0.72 = 145. 58 = 104. 82 m2 159.9
TTHEO 0.68 x* 59.16 = 40. 23
TIWE® 2.02 = 6. 45 = 13.03
BEKEEROD 0.60 =* 2.50 = 1.50
EKEERO 0.60 =* 0.50 = 0.30
&&t 159. 88
LB HE&LY tI-EAIER £i&Y
M-30 t=12cm TIHE® 0.87 % 14558 = 126.65 m2 188.4
TIW@EQ 0.78 = 59.16 = 46.14
TTHE® 2.14 * 6.45 = 13.80
EKEEHROD 0.60 =* 2.50 = 1.50
BEKEERQ 0.60 =* 0.50 = 0.30
=11 188. 39
=[E HE&Y I -ERTEE £iHEY
BERHE TIWE® 0.90 = 145. 58 = 131.02 m2 195.5
As(13) t=3ecm |TXIBE® 0.80 =* 59.16 = 47.33
TIWE® 2.17 = 6. 45 = 14.00
BEKEEROD 1.05 = 2.50 = 2.63
EKEERO 0.95 =* 0.50 = 0.48
&&t 195. 46
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HEIOv I MHEER No. 2/2
A X B— 1% B—2 %&# & 3
7 VHAMNESELET 0y
¢ 200 HIVP
BIDLE (&) L=500 2 2 1@
BOLE () L=300 =
BDLE () L=500 20 2 4 &
BEOLE () L=300 =
¢ 150 HIVP
BOLE () L=500 &
ELE () L=300 X
EOLE () L=500 =
BILLE () L=300 2 1@
¢ 125 HIVP
RILLE () L=500 &
BOLE () L=300 &
RILLE () L=500 &
EOLE () L=300 &
$ 100 HIVP
EOLE () L=500 &
ELE () L=300 B
EOLE () L=500 =
BILLE () L=300 &
¢ 65 HIVP
ELE () L=500 .
B/OLE () L=300 =
RILLE () L=500 &
EOLE () L=300 &
7 VHAMNESELET 0y
RIDHTE ¢ 150%150%150 &
BEILTE ¢ 100%100%100 e
BEDY 3{vh
¢ 125%100 &
@ 100%65 &
B th#t
¢ 200/ 32 32 &
150/ 14 14 #
P 125 FH ®




